
Please follow all instructions on today’s 
check answer sheet:



NOTES: 6.4 Solving for angles using inverses

indicates you are performing an

2

*Similar idea: 

   9   indicates an operation.

   although it can be rewritten as x 9

 1tan 3
inverse operation (NOT a reciprocal.)  
Therefore, it can be rewritten as  tanθ 3



NOTES: 6.4 Solving for angles using inverses

Principal values create a unique (one) solution: 

   sinθ and tanθ  Quadrant I 
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4. Find sin cos
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  1 1 15.  (a) sin 1                  (b) cos 0                 (c) tan 3

#5-7:  solve for the angle in degrees instead of radians
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7.  (a) sin
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